20y 28,0507 2 V0,09

R< /57 %

goplot2 APF9 [ver. 3.3.0 }i)

=

J% EF’EJ' Ej

g o 2e%



N =—q—

- EXAMEIR

« JIT7DERDFTN
o« TERDTZI7ERLB
o GISTDDHARETAR

B2 theme() D E

¢ JII.:.‘J

I

]451| : Kaplan Meier Plot

1451] : Forest Plot



ToothGrowth$len

Traditional vs. ggplot2

15 20 25 30 35
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Traditional
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Traditional 7220 =52

[ROLHRZFH>THUREA )L
TEELGEBTST7EEST-E RO OXEEFBITHRFMIL
—EWN=T57%, RIDOT 7% HE<-OIZBI BT HZEEAT]




geplot? TERTHT57 R

«  Wilkinson (2005) “The Grammar of Graphics, Statistics and Computing”
TOMEFT 749 I AN EEERIE L=/ Ny —D
o [O3TICETHAToIRIEFEL>THCRAEZAIL

o geplot() TR ELBT 7o, AOBEOXFICEHT S
ATV TOME geom XXX() FTIERLL, BEIZIGCTHRAEATA X
L=, T EICBEYFTITRRAMIL (AT HMNEIEBEF B A EE

o AR CEGR)DFEBITHRRATERSN TS

Points
/ Cham -

and s‘ryle
——>| Vertical line ] Horlljloen‘ral
(0]

=
V \ Change color o~ o°
. o
[ "ABC" ]Gnd |0COTl0n[ "ABC" ] I I I I I Ol i :'TB? i

(X.Y) = (5,5) > (XY)=(72) 2 6 10 2 6 10

‘II:l

6
[ I
o]

2




BHES/ Vo T—DEEUH L

e ggplot2 I\ —I%  BEENYT—U DA RAM—I)LERUHL

> # install.packages ("ggplot2", dep=T)
> # install.packages ("dplyr", dep=T)
> # install.packages("scales", dep=T)
> library(ggplot2)

> library (dplyr)

> library(scales)

+ TERABLOETERT /T —C DAV AR—LEFTHL

> # 1nstall.packages ("ggthemesg", dep=T)
> # 1nstall.packages ("survminer", dep=T)
> library (survminer)

> library (ggthemes)

> library(grid)

> library (gridExtra)




T ET—251): ToothGrowth R

«  FILEYMIEAZY CRIFFALUOVA—REFEZ-FHOEDEIZFHAND
* len: &£ (mm)
* supp: T DFELE( VC(EHIC) RIL OJALPPa1—R))
» dose: = (0.5mg, 1.0mg, 2.0mg)

> head (ToothGrowth, n=3)

len supp dose

4.2 vC 0.5

11.5 vC 0.5

7.3 vC 0.5

> tail (ToothGrowth, n=3)
len supp dose

58 27.3 oJ 2

59 29.4 oJ 2

60 23.0 oJ 2

w N




ggplot? FEi5

> base <- ggplot (ToothGrowth,

aes (x=dose, y=len, color=supp))

BE# ggplot(): TOVRA T OO EE)FERLT S
geplot(T—ARTL—L%, aes(x FEIZDER, v BEIEZDLEH, TATEMN))

«  PBIH aes(:x FEERZDER, vy BIEEOXH, TRATEME*ZHEET S
(Z2THREIT HPREFEN)

« IRTEHR.B.KES.EOFEHE. JOVrEOHE

CCTIEYTYDIEEE (supp) EBZIATIFLTEY  BEILICEE
EZ1-Y. BT DEEL FLEICERYALEOFEMN £6D

o  FERIFF-F-DLTE(EH base )Z1ERLI=TZTD T,
NIEITTIET 7% ERR L= &2 570

X aesthetic attribute: BEMEMN . [RIFLBVEETI MR THTEEIDTENELLD



geplot? F14

> points <- base + geom point ()
> plot (points)
> base + geom point () # plot (points) &EELENZE

o EFRIEBLIZXE (EH base) [CLANV—*ZFEBMLE=ZE#HEERT S
o LAV—C¢LIETTF—2IZBEETEHIERID_ET, HIAIELEEEDEEE
geom_point() TlEIEZL AV —1ZEM., bl T5T7DFELEIL
XTI KIEWLWVDIBEZE S base [CHEZ TSI EITHD
B %X plot() IZTZE %K points FIRETH_ETTITNRTINSD ., COREEKIE
HEYEASNTHEST .3 ITEDEAXN base + geom point () IH—HZHI
o« GITITDWT, ESLVDHBREATAXMAEEMN (ESWVDBIEDHHM) (.
11~15 BEDRICTHEEE (B Z (X, BI%L geom_point() [Ex, v, alpha, color,
fill, group, shape, size, stroke ZEN 5| I H D)
o J57%RBEITIEEIFAZ DD, RIFEE ggsave) Z{ERT S
- ggsave("xxx.pdf”, device="pdf”, scale=1, dpi=300) # ERINT ST%=RE
ggsave("yyy.pdf”, plot=4"52Z4 < x Ik, width=9, height=9, units=c("in”,”cm”,”mm”))

X HEYRASTENGOLEENELLNFEADNBNELLS (LAY —DEEILER)
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B#¢ geom XXX (T =2) DIELE() R

B3k 123 IRTRERE

geom_abline B #R slope, intercept, alpha, color, linetype, size

geom_area B TEE X, ymax, ymin, alpha, color, fill, group, linetype,
size

geom_bar BI52 X, v, alpha, color, fill, group, linetype, size

geom_col BI52 X, v, alpha, color, fill, group, linetype, size

geom bin2d E—k<vT bins, binwidth

geom _blank o529 (FRRHEL)

geom_boxplot FAOITHE lower, middle, upper, x, ymax, ymin, alpha, color,
fill, group, linetype, shape, size, weight

geom_contour ZEiJaovk X, y, alpha, color, group, linetype, size, weight

geom_count BICIED#ZERT X v, alpha, color, fill, group, shape, size, stroke

geom_crossbar FAWMTEIDFEI[T  x, ymax, ymin

geom_curve R #RZ < X, Xend, y, yend, alpha, color, group, linetype, size

geom_density = EE 4R X, Yy, alpha, color, fill, group, linetype, size, weight

geom density2d 2 RITZEEHTE X, v, alpha, color, group, linetype, size

X BF WTHEELETNIXNTENGIE .



-k 4 geom XXX ( “5 Z)DiE ﬁ@ R

B FE5E IXATRERMY
geom_dotplot KykZOvk X, Y, alpha, color, fill, group, linetype, stroke
geom errorbar EREICEITHIS—/\— x, ymax, ymin, alpha, color, group, height,
(fE) linetype, size
geom errorbarh EREICEITHIS—/\— xmax, xmin, vy, alpha, color, group, height,
(&) linetype, size
geom freqgpoly HEERYITL binwidth, alpha, color, linetype, size
geom_hex NAFOE—kTYD X, Y, alpha, color, fill, group, linetype, size
geom_histogram EART 5L bins, binwidth, alpha, color, fill, group,
linetype, size
geom_hline KEFEEHE< yintercept, alpha, color, linetype, size
geom _jitter T—R%ERXTT(RED X, Y, alpha, color, fill, group, shape, size,
BIRYZEMIT HT=8)  stroke
geom_label PTETXFHZH#] X, vy, label, alpha, angle, color, family,
fontface, group, hjust, lineheight, size, vjust
geom_line Ratm< X, Yy, alpha, color, group, linetype, size

X BF WTHEELETNIXNFEZNGIE .



B$ geom XXX (T'57) DIEIE3)
B

=58
geom_linerange FAWTHEDFEZIRETERLT-
J0Owyk
geom_map E(CE—h2yT%#BEET S
geom_path T—3D EMLIEIZHE TES
geom_point B X

geom_pointrange FWEFIZZERFEDTOVE
geom_polygon Rya>avk

geom_qq QQ ZAayk
geom_qq_line QQ line

geom_quantile FAOITHDESEZE AR
( stat_quantile() ZZH8)

geom_raster geom_tile M/ \NA/\TA+—
72 AR

X FBE: DLTHEELZITNIENITZELGIE

IXRTEM

X, ymax, ymin, alpha, color, group,
linetype, size

map_id, alpha, color, fill, group,
linetype, size, subgroup

X, Y, alpha, color, group, linetype, size

X, Y, alpha, color, fill, group, shape,
size, stroke

X, Y, ymax, ymin, alpha, color, fill,
linetype, shape, size

X, Y, alpha, color, fill, group, linetype,
size, subgroup

sample, group, X, vy
sample, group, X, vy

X, Y, alpha, color, group, linetype, size,
weight

X, Y, alpha, color, fill, group, height,
linetype, size, width
13



B geom XXX (O'57) DIELED) R

B 125 IRTRE

geom_rect ¥R EHE< Xmax, Xmin, ymax, ymin, alpha, color,
fill, group, height, linetype, size, width

geom_ribbon FNEET STI2/ A RIEZMA x, ymax, ymin, alpha, color, fill, group,

=-70vk linetype, size
geom_rug S5 7ayhEZT—2F%EE X v, alpha, color, group, linetype, size
it)
geom_segment #R 9D ZFHE< x, xend, y, yend, alpha, color, group,
linetype, size
geom_sf GIST—4 (sf object) ZHE<
geom_smooth T RR X, Y, ymax, ymin, alpha, color, fill, group,
linetype, size, weight
geom_spoke AEZRITESZTHC X, y, angle, radius, alpha, color,group,
linetype, size
geom_step S B BE 24 X, V, alpha, color, group, linetype, size
geom_text N FH|%i< x, v, label, alpha, angle, color, family,

fontface, group, hjust, lineheight, size, vjust

X BF WTHEELETNIXNTENGIE .



B geom XXX (O'57) DIELEB) R

B 125 IRTRE

geom_tile BA)L-TOYE X, Y, alpha, color, fill, group, height,
linetype, size, width

geom_violin INAY-TAayk X, v, alpha, color, fill, group, linetype,
size, weight

geom_vline HEfR 2 < xintercept, alpha, color, linetype, size
X BF MTIEELGTNIENTZELGIE

X ML geplot2 /N — NI TILESR
https://geplot2.tidyverse.org/reference/

15



BG# stat XXX (#5518 DFELE)

Sk
stat_bin
stat_bin2d
stat_binhex
stat_boxplot
stat_contour
stat_count
stat_density
stat_density2d
stat_ecdf
stat_ellipse
stat_function
stat_identity
stat_qq
stat_qgq_line

EE ]
T—AR® bin DIE(ERXNT S LDIEDIENE)
%612 (rectangle) D DT —2%4
NAEDODE—rTYITZHI=DT—74
FAOITRTH WKL ENHE=E
EFER
HEERET
1 RTDEEHTE
2 RITDEEHTE
RERRIES MBS
HExEH
A—H—hIEEL-FA#(TEHET D)
T—ADEBRELIEWN(T—EDEF)
QQ 7Avk
QQ line

X BE: DLITHEELZITNIENITLZEULG|E

IRXRTREMN

x, v, fill, group

X, Y, Z, group, order

X, group, weight, y

X, Y, color, size

X, Y,
X, Y,
Yy, group
EL
sample, group, X, y

sample, group, X, y
16



BE stat XXX (#5112 DELED
" .

# e IATRME
stat_quantile ML=
stat_sf GIST—% (sf object)
stat_smooth FE{E B
stat_spoke WBEELH(x &y DEFHZER)
stat_summary T—ADENMETE X, Y, group
stat_summary bin T—ADHEEEET X, Y, group
stat_summary 2d E—FIVT DRI T—FE X, Y,z
stat summary hex E—FIVYTDENRNAEOT—E2E x v,z
stat_unique T—RDEEERE group
stat_ydensity BEHEEEN(AI)TOVRA)  xvy

X FE DLTHEELZITNIENITLZLGE

X ML geplot2 /N —S MDY= TILESR
https://geplot2.tidyverse.org/reference/

17



N =—q—

« EARWIEIE

« JI7DERDTGEN

o« TBRDYTTIERLS

« JISTDHREAIAX
B84k theme() D E

o 45 :Kaplan Meier Plot

o A% :Forest Plot

18



Bl FIIE+IREmEDEZ <D

R

INVT—2 dplyr DEEZRAWLWT. LTS ZEEITI S
ZEIZKYT—ATL—L ToothGrowth M ZEER dose Z&M
B len DFBELIZLEREZT KD, FERET—2I7L—L4A
MS [ZH&HRT 5
BEE group by(): T—4TL—LEE 2 5| 8DEHTT IL—T1t
B summarise(): 7 IL—TJ{beshi=7T—427L—LI[Zx L TAULIE

>
+

>

#

1
2
3

MS <- summarise (group by (ToothGrowth, dose),
m=mean (len), s=sd(len))
MS
A tibble: 3 X 3
dose m S
<dbl> <dbl> <dbl>
0.5 10.605 4.499763
1.0 19.735 4.415436
2.0 26.100 3.774150

19




Bl FIIE+IREmEDEZ <D

2. J53MDLEELAHES base T1ERLT 5

> basel <- ggplot (MS, aes (x=dose, y=m))

> basel

3. THEICEATDINIRY S7ZERT S

> basel + geom line()

4. 3.

X

DIFNEET STI2T5—/\—%BML. FHEFIZERED
T EEEZD > ASAMR 11~15 BE&LY  T5—/\—%

W<BEA#MEET — XS5/M4K 12 EDORI%L geom_errorbar()

2. 4.

DREEIZ DT, T FEELEZITNIXNFZEL G A

goplot2 NV —UDIR=—aFILX [ZTHEET S

% https://geplot2.tidyverse.org/reference/ 20




Bl FIIE+IREmEDEZ <D

6. 4. ~5 ZHFEA. FHELZEEREDHZTH<
6. DY 7% A% ggsave() IZTHERT7AILIZIRTE

1.

> out <- basel + geom line()

+

>

> ggsave ("c:/temp/out.pdf",

+

geom errorbar (aes (ymin=m-s, ymax=m+s))
out

units="in")

plot=out, width=9, height=9,

+

25-

20~

15~

10~

1
0.5

#3 DYS57

1
1.0

dose

1
15

1
20

30~

25-

20~

15-

10~

#6 DYS57

—/_

1 1 1 1
05 1.0 15 2.0 21
dose



D12 FIIE+IREmEDEZ <O

T—H3IL—.L ToothGrowth MZ 2N dose & supp ZEDZEE len D EW{E
CREEERELERD. T—FT7L—L MS2 [ZHEINT S

1.

%

> MS2
+
> MS2

dose
<dbl>

O Ul b W DN R
N NP B O

0.

5

O O O O WU

<- summarise (group by (ToothGrowth, dose, supp),

sSupp
<fctr>

OJd
VC
oN)
VC
OJd
VC

m

<dbl>

13

7.
.70
16.
26.
26.

22

.23

98

77
06
14

BN N W DN

m=mean (len), s=sd(len))

S
<dbl>

.459709
. 746634
.910953
.515309
.655058
. 797731

2.

M dose & supp CEDZEH len DEMEDITNIRT S5 T7%H#<

(1EEHICHEE LT=Z 28 dose [LEHREHELTHETE)

> base2l <- ggplot (MS2,

> base2l + geom line()

aes (x=dose,

y=m,

color=supp) )

22




D12 FIIE+IREmEDEZ <O

3. TEBAICIEELI-ZEH dose ZHTIVEHET HETIFT—HHD
— ggplot2 fAAY, dose & supp DELLEY IL—T LT DA EEER A

> base22 <- ggplot (MS2, aes(x=factor(dose), y=m, color=supp))

> base22 + geom line ()
geom path: Each group consists of only one observation.
Do you need to adjust the group aesthetic?

4.  5I¥ group ST IWN—T LT EEHZERETE > hTITIVHAERH LGS EETE !

> base23 <- ggplot (MS2, aes(x=factor(dose), y=m, color=supp,

+ group=supp) )
> base23 + geom line ()

25- 25-

20- 20-
supp supp

15~ 15~

10~ 10~

1 1 1 1 1 1 1
05 1.0 1.5 2.0 05 1 2
dose factor(dose)




B12: FHEIELRERE DR Z7H<S

1. BIEDYI7%8HLEITFTITIZLTHDS
2. Bl TZ7EFIENEIZTETSIS71ZLTHS

3. ERIIHEW=U 7% ggsave() ICTTHE T 7AILIZRTF

>
>
>
>
>

base24 <- ggplot (MS2, aes(x=dose, y=m, fill=supp))
base24 + geom areaf()

base25 <- ggplot (MS2, aes(x=dose, y=m, fill=supp))
base25 + geom area(position="fill")

ggsave ("c:/temp/out . .wmf", device="wmf", scale=1,

dpi=300)

50~

40~

30~

20~

10~

1.00-

0.75~

supp

€ 050"

0.25-

0.00-
0.5 1.0 15 2.0 05 {O 15
dose dose

I
2.0

supp




B13: kTR &7 <

1. T—AR7JL—.L ToothGrowth MZ % dose ZEDNZER len D)
HAEZES, TR T8 supp ZEIZB DT (BERT)T 5

> head (ToothGrowth, n=3)
len supp dose

1 4.2 vC 0.5

2 11.5 vC 0.5

3 7.3 VvC 0.5

2. R5AK 11~15 BE&Y . &

y

<EMERT

— XA54F 13 EDORIEL geom_point()

3. 2. DEABIZDOWWT . LT IHEELLZITNIXWITZLG | 3%
goplot2 N —UDI=aTFILX [ZTHERT S

% https://geplot2.tidyverse.org/reference/

25




B13: kTR &7 <

R

TEDRIZ, T B8 BIZRIETEL base) T1ELT [TT TTHERT A BT

B4 ggplot() M aes A Tlcolor=suppl&d &, BRI supp SEICEERITEIND

- BE%k geom_ point() Tlcolor="red” |ZIEE T 5&. AHAETHKIZHD

o BHNIFLI=WMERIZ. 5 DREEL geplot) M aes NTHEET S (BEL geom_point() TIEXAT])
« HHMETIS7DOARFITAXIDEIZT

5134 shape. color, size FZ@EY)IZEL VTS

BErTnIE, WAWASEEAHKS — FMIEITTSTDAREITA X IDEIZT

o [FRATEAHARIEIZDULVT : http://cse.naro.affrc.go.jp/takezawa/r—tips/r/56.html

> ggplot (ToothGrowth, aes(x=dose, y=len)) +

> ggplot (ToothGrowth, aes(x=dose, y=len, shape=supp)) +

+ Vv

ggplot (ToothGrowth, aes(x=dose, y=len, color=supp)) +

geom point ()

geom point (color="red")

geom point (color="blue", size=2, position=position dodge(0.1))

ggplot (ToothGrowth, aes(x=dose, y=len, color=supp)) +
geom point () + geom hline(yintercept=15, color="blue") +

annotate ("text", x=1.8, y=7, label="r"2 == 0.80", parse=T, size=5) 26




B13: kTR &7 <

len

len

WE 12HDY 57 BHE 22HDY 57
30- * 30-
i i
B H supp H
207 . T 0J & 20 i
! - ; g
10- 8 10- :
g 1
03 1b 15 2b 05 {0 15 20
dose dose
B 3IDHEDNS 77 BB 42D 57
A [}
A e
30- - 30- "
; i :
* :‘ ': Supp . : supp
20 i LN A e 0y §20° : T oJ
; 4 & :
A [
10- !A 10-
% ] ¥=0.8
05 10 15 20 05 10 15 20

dose dose

VC



Pi4:FELZ DIETS TS

1. TZ# len DIEM 15 LLETHAT—2HIZET5ET57
i - 2 FBEEO T —3%F1ERLT S

> TMP <- filter (ToothGrowth, len>15)
> head (TMP, n=3) # T YD I—RERKT

len supp dose

1 16.5 VC 1
2 16.5 VC 1
3 15.2 VC 1

> TAB <- summarise (group by (TMP, dose), N=n())

> head (TAB, n=3) # dose OANTIICECHBEESAEZTFETHL
# A tibble: 3 x 2

dose N
<dbl> <int>

1 0.5 4
1 17

2 20




B4 78 & DIFD'STF < ‘R

2. RTAR 11~15 BXY . B 57%E<EBEEL-Z. uTHEELLZ TN
ULMFEEULNE |2 E ggplot2 /N —o DI =7 )L* [ZTHERR
— X548 11 EDOE% geom_bar() EEHEL geom col()

ggplot (TMP, aes (x=dose)) + # S| x [CIBESNLCATIVDOT—IHEEHZD

>
+ geom bar ()

ggplot (TAB, aes(x=dose, y=N)) + # B v ICEESNLEBZZOFIERR
+ geom col ()

\Y

20~ 20-

156~

[&)]
1

0- IIIIIIIIII

1 1 1 1 1 1 1 1
0.5 1.0 15 2.0 0.5 1.0 15 2.0
dose dose

¢ https://geplot2.tidyverse.org/reference/ 29




G4 5 & DIEDS TEH< ‘R

3. M#MZERFEICLTHS(HEAILRIEDH)

> ggplot (TMP, aes (x=factor(dose))) + geom bar ()
> ggplot (TAB, aes(x=factor(dose), y=N)) + geom col ()

4. BH#E geom_text() T. T I I7INFHBETAH(HAILREIFEDH)

> ggplot (TMP, aes(x=dose)) + geom bar() +

+ geom_text (aes(label=..count..), stat="count", vjust=1.3, color="yellow")

> ggplot (TAB, aes(x=dose, y=N)) + geom col() +
(

- geom_text (aes(label=N), vjust=-0.2)

20~ 20~

20
17
15-
5-
0-
05 1.0 1.5 20

count
)

05 : 2
factor(dose) dose

30




Bl4: FER DEES S 7% 1<

5. BRALITEIITIIOEEDOREZLEE Itz ESIZIIhTI)ZEHEIRE]
— fill=supp THEDEYDRLDE. color=supp TEDEYDENZEHS

> TAB2 <- summarise (group by (TMP, dose, supp), N=n())
> ggplot (TAB2, aes (x=dose, y=N, fill=supp)) + geom col (width=0.1) # EDIR
> ggplot (TAB2, aes(x=dose, y=N, fill=supp)) + geom col (position="fill") # BISIC
> ggplot (TAB2, aes (x=dose, y=N, fill=supp)) + # O30
+ geom col (position=position stack (reverse=T)) + # ZBIC
+ guides (fill=guide legend (reverse=T))
20~ -
hd I
15~
20~
0.75-
Z10-
15~
Z 050~
N supp
Z10-
I 0.25-
0-
1 1 5_
05 10 000
dos :
05 10 B
dose 0-

1 1 1 1
0.5 1.0 1.5 2.0
dose @




R

BI5: OB zE#<

1. Bl#K fill=supp ZHE8E T HFAZIT DEWL(DH vs. 22H)
2. B4 geom_boxplot() [Z5|%4 color 4° position ZIEELTH S (3DH)

> ggplot (ToothGrowth, aes(x=interaction (supp, dose), y=len, fill=supp)) +

+ geom boxplot ()

> ggplot (ToothGrowth, aes(x=interaction (supp, dose), y=len)) +

- geom boxplot (fill="green")

> ggplot (ToothGrowth, aes(x=interaction (supp, dose), y=len, fill=supp)) +
- geom boxplot (color="red", position="dodge")

len

30-
30-
[ ]
20-
.
10-
10-
1 1 1 1
0J05 VC.O05  0J.1 \VC.1
interaction(supp, d 0J.05 VC.05 0JA

30~

[ supp
Ed o
* R

interactia

1 1 1 1 1 1
0J05 VCO05 OJ1 VCA  0J2  \C2
interaction(supp, dose) 32




N =—q—

« JIST7DERDIRN
- BRDYTS7ERHI

« TS5TDHARATAR

BE%4 theme() D E
o 45 :Kaplan Meier Plot

i Jll.:,\

1451 : Forest Plot

33



& ST —52: iris R

Sepal.Length Sepal . Width Petal.Length Petal . Width Species
2.1 3.5 1.4 0.2 setosa
4.9 3.0 1.4 0.2 setosa
4.7 3.2 1.3 0.2 setosa
4.6 3.1 1.5 0.2 setosa
2.0 3.6 1.4 0.2 setosa
0.4 3.9 1.7 0.4 setosa
4.6 3.4 1.4 0.3 setosa

o Davir—DHRSHTEERA T AOITRRALET Y AD Mg $E

(Species: setosa. versicolor. virginica) |[ZB§9 5T —4
= LITD 4 EHEHRAZTHELTTZVAOFEZHIALESELT-

T X AD LD K= (Sepal.Length)
TXADMNKDEE  (SepalWidth)
TNV ADIEF DK (Petal.Length)

TYADEFDIE (Petal.Width)
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1 O R

1. 518K x [TZ % Species. 5180 v IZZ %1 Petal.Length 5%
o Z# Species MIEZ EIZEH Petal.Length DFEOITRIZ1ERL
- BH%L stat_ summary() TEHEIZE T Hm A F1BELT 5

2. BA%K facet.wrap() TREAIT 37 D1ER
3. 8% coord_flip() TY S T7MNEIE

> ggplot (iris, aes(Species, Petal.Length)) +
+ geom boxplot () +

+ stat summary (fun.y="mean", geom="point", shape=2)

> ggplot (iris, aes(Species, Petal.Length)) +

+ geom boxplot () + facet wrap( ~ Species, nrow=1l, ncol=3)

> ggplot (iris, aes(Species, Petal.Length)) +
+ geom boxplot () + coord flip()
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pl1:EOIFE

Petal.Length
N

Species

2- .
|
I
]
1
setosa
virginica -
versicolor =~
setosa~- ®®

1
versicolor

Species

I
virginica

4
Petal.Length

setosa versicolor virginica
6" ‘
= | |
)]
&
—4-
IS
[0}
o e
2- e
1
[
s
-04 -02 00 02 044 -02 00 02 0494 -02 00 02 04
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BI2: EX T SLEEE R R

1. B3 x [TZEH Petal.Length ZIETEL TERART S L AL
2. HtEZEZEEICLTHS
3. ZH Petal.length [TEHT RN S LOZEMIEZHE]

> ggplot (iris, aes(Petal.Length)) +

+ geom histogram/()

> ggplot (iris, aes(Petal.Length)) +
+ geom histogram(aes(y = ..density..)) # fit#=2E

> ggplot (iris, aes(Petal.Length)) +

+ geom histogram(aes(y = ..density..)) +
+ geom density (color="blue") # ZHEMIRZIES
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BI2: EXFTSLEEERHIFR

0.8-
20-
0.6~
>
- +
S E
3 S D.4-
3 3
10-
0.2-
oA 0.0-
| ! !
2 4 6
Petal. Length
0.8-
0.6-
= 225{ rti'l
= H ISX
S 0.4-
el
0.2-
0.0-

; i ;
Petal. Length

4
Petal.Length
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BI2: ERFOSLEEERKE R

1. Z# Species NEZ EIZZEE Petal.Length DERANT S LZEVERK
2. Z# Species MIEZ EIZE#L Petal.Length D& E R #RZ <

ggplot (iris, aes(Petal.Length, fill=Species)) +
geom histogram(alpha=0.4)
(

geom line (stat="density", color="blue") +

>
+
> ggplot (iris, aes(Petal.Length)) +
n
n

facet grid(Species ~ .)

count

- N
1 1
Bs0jos

|

20-

Species

setosa

J10]0DISISA

versicolor -

10- virginica

eolulblIA

' ! ! Petal.Length
2 4 G

Petal Length 39



B13: X T IR L EEEF - [EIhFE

1.

3

5180 x [TZE 2R Sepal.Length, 5128 v [Z Sepal.Width Zi587%E
2. FE2 2 ZHIZEH T HERFXIEZ 2L Species Z &EIZ1ERK.

EEBHPEIFEREZE

BEE9 %

R

+

+

+

+

Gl

Gl

G2

<- ggplot (iris, aes(Sepal.Length, Sepal.Width)) +

geom point (aes(color=Species)) +

stat ellipse()

<- ggplot (iris, aes(Sepal.Length, Sepal.Width,

color=Species)) +

G2

geom point () +

stat smooth (method=1m,

se=FALSE)

# TIAIE: formula=y~x
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Sepal.Width

4.5-

4.0-

3.5°

2.5-

2.0-

23 : X T X L E 45 T - [6] 17 [B #R

ee see esee e
es  eecee o
ese  eceee o
e e ¢ e
e o0 o .
eee
[
I I I I
4 5 6 1

Sepal. Length

Species
® setosa
|
* versicolor |

* vyirginica -

Sepal.Width

4.5-

2.0-

Sepal. Length

Species

~+= setosa
=+ versicolor

== virginica
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D13 X TR L HEEIG T - [EfFIE#R R

e gridExtra /\ v r— D BAEN grid.arrange) Z{ESZETEMD I 57
1 FEEDHBEHNHKS
- BH# gridarrange(TAVYRAT VM, TOYLAT O HIR2, --+)
TTAYrAT O HrEFLERTRR
e 5|# layout matrix [Z1THIZIEE T H_ & TEMITBEE N AT EE

> library(grid)

> library(gridExtra)

> grid.arrange (Gl, G2, nrow=2, ncol=1, as.table=TRUE,

+ heights=c(1,1)) # FINERHHEEIL width=c(1,1) THRIEI T

> LM <- matrix(c(1l,NA,2,2), nrow=2, byrow=T)
> grid.arrange (Gl, G2, layout matrix=LM, heights=c(1.5,1))
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Sepal.Width

Sepal.Width

23 : X T X L E 45 T - [6] 17 [B #R

45~

Sepal.Length

Species
®  setosa
® versicolor

@ virginica

Species

~*= setosa

Sepal.Width

=®= versicolor I

~#= virginica

Species
® setosa

® versicolor

® virginica

1
4 5 6 7 8

Species
~#= setosa

=*= versicolor

Sepal.Width

~#= virginica

Sepal.Length
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B4 - Waterfall Plot

« TITEVNBNDEMTESH. BLIIREIZT

> Oncology <- data.frame (
+ id =c ( 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12),
- rrate =c( 80, 50, 40, 20, 5, -10, -10, -15, -30, -50, -60, -95),

+ resultzc ( n PDII , IIPDII , n PDII , IIPDII , IISDII , IISDII , IISDII , IISDII , n PRII , IIPRII , n PRII , IICRII) )

ggplot (Oncology, aes(x=id, y=rrate, fill=result, color=result)) +

\

+ geom bar (stat="identity", width=0.7, position=position dodge(0.1)) +
+ labs(list (title="Waterfall Plot", x=NULL, y="Response Rate (%)")) +
+ theme (axis.line.x=element blank (), axis.text.x=element blank(),

+ axis.ticks.x=element blank()) +

+ coord cartesian(ylim=c(-100,100))




24 : Waterfall Plot

Waterfall Plot

100

50 -
result
III L
_ — e
--Il N~
IIIISD

-50 -

-100 -

o

Response Rate (%)



25 HFEG¥ DT Oy

> base <- ggplot(data.frame(x = c(-5, 5)), aes(x))

> base + stat function(fun=dnorm)

o HMFEHZTIEIGEIIEZ stat_function) ZHLYS

0.4-
0.3-
>0.2-
0.1-

0.0-

I I I I
-5.0 -2.5 0.0 2.5 5.0
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25 HFEG¥ DT Oy

> f <- function(x) x"3/2
> base <- ggplot(data.frame(x = c(-5, 5)), aes(x))
> base + stat function (fun=f, color="red")

o HMFEHZTIEIGEIIEZ stat_function) ZHLYS

40~

40~

-5.0 -2.5 0.0 2.5 5.0
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G5 : FrF G D T O~

> xlimit <- function(x) { y <- dnorm(x);

> base <- ggplot(data.frame(x = c (-5,

> base + stat function(fun=xlimit, geom="area',

+ stat function (fun=dnorm)

5)), aes(x))

fill="blue",

y[x<0 | x>2] <- NA; y }

alpha=0.3)

+

o HFEAHMF <GS IIEEL stat_function) =LY%
« —HDMEBEETELELHFKS(E5IE alpha THEBEEA)

0.4-

0.3-

=02-

0.1-

0.0-
5.0 2.5

0.0

2.5

5.0



5.0

0.4-
0.3-
>0.2-
0.1~
0.0-
-5.0 2.5 0.0 2.5
X
> ggplot (data.frame (x=c(-5,5)),
+ aes(x)) +
+ stat function (fun=dnorm,
+ args=1ist (mean=0, sd=1))
> # HFBEHIC x USNDEHDIEEIL
> # 58 args ICYVRMZEET S

25 HFEG¥ DT Oy

0.4 -

03—

=02

a.1-—

5.0 25 0.0 25 0
X
> g <- gnorm(0.975)
> mydnorm <- function(x) {
+ y <- ifelse(x < -g | x > g, dnorm(x), NA)

+ return (y)

+

ggplot (data.frame (x=c(-5,5)), aes(x)) +

\

stat function (fun=mydnorm, geom="area",
fill="blue", alpha=0.3) +

stat function (fun=dnorm,

+ o+ o+ +

args=1list (mean=0, sd=1))
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6 : Z E BT D & 77

FE%% geom_ribbon() &FH%% geom_area() M 1E Al

tmp <- rnorm(1000, O, 1)

df <- data.frame (density (tmp) $x, density (tmp) $y)

df$x <- df$Sdensity.tmp..x

dfSy <- dfSdensity.tmp..y

ggplot (data=df, aes(x=x, y=y)) +

geom ribbon(data=subset (df, x < -1), aes(ymax=y), ymin=0, fill="blue")

geom_ area (data=subset (df, -1 <= x & x <= 1), fill="red", alpha=.6) +

geom_ area (data=subset (df, x > 1), fill="green", alpha=0.4) +
scale y continuous (limits=c(0,max(dfSy)), breaks=NULL) +
scale x continuous (limits=c(-4,4), breaks=c(-3, -1, 0, 1,3)) +

labs (x="Samples from Normal Distribution", y="Density") +

theme (legend.position="none")

+
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hl6: E/ELTHDE ST

Samples from Mormal Distribution
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SE:BEITSIDEE R

« BHDBEY. BE%L facet wrap() & facet_grid) TRERIZ 57H
ERCE KD
« facet wrap(~ Z#, nrow=1, ncol=2): 1x2 DERIT S
« facet wrap(~ Z#1 + T2, nrow=1, ... ): EHOLETHIZLEERT ST
+ facet grid (TEH ™ ): ITERICTERT S
- facet_grid( " BIZEH): FIELIZTERIF7
+ facet grid fTZER "~ FIER)  1TEHEHNEHIZTER T ST

«  [BH%1 facet.wrap() & facet_grid() @
5|84 labeller LES%K labeller() TEY 7D )L %1
5|3 scales |Z “freex” (xBH) . “free_y” (yEH) . "free” (M EH) ZI57E

o F1DEY . B8% coord flip) T STDETEZTTO
- BEA# theme) TRI-BDHE (XTI ITDINILDERE)
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SZ:BHITSIDIER

\ 7

Fetal Length -04-02 00 02 04 -04-02 00 02 04 -04-02 00 02 04

> mylabel=c("setosa"="8", "versicolor"="Ve", "virginica"="Vvi")
> ggplot (iris, aes(y=Petal.Length)) + coord flip() + geom boxplot () +
- facet wrap( ~ Species, nrow=3, ncol=1, labeller=labeller (Species=mylabel))
>
> ggplot (iris, aes(y=Petal.Length)) +
- geom boxplot () + facet wrap( ~ Species, nrow=1l, ncol=3, scales="free y") +
+ theme (strip.text=element text (face="bold", size=rel(1.5)),
- strip.background=element rect (fill="cyan", color="red"))
I
04- ® 5 setosa versicolor| |virginica
i I 7.0-
0.2 . .
0o- == . | 5.0-
-0.2- I ] ]
04 . 175 6.5
04- Ui ! 45-
02- e 6.0-
0.0- . — !_§150—
-0z | = 40-
0.4- I @ 55-
-0
Vi I
0.4- | 1.25-
0.2- . 35 50-
0.0- — — !
-0.2- ! i
-0.4- | | . ! i 1 d ! i
; . . : 1.00 3.0 45
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SZ WHDIT SR R

BI3MDIBY . gridExtra /\vr— MDEI%L grid.arrange() TEED T 52

1 BUZEEHBIENHES

B4k grid.arrange(TOYrAT O HM, TAVRAT T HR2, -++)

* 5| nrow & ncol TITHEFNHZIERE

«  B|3 heights & widths TESEIBEIETE

*  B|% nrow & ncol DRDHYIZ, 518K layout_matrix IZ1TH|ZEIEET H_ET
EMITECE D AT RE
= JOybAToxH G1,. G2, G3 ZIEFIZIEEL =& - -

G1 G1
G2 G3 G2 G3
layout matrix= layout matrix=
matrix(c(1l,NA, matrix(c (1,1,
2,3), nrow=2, byrow=T) 2,3), nrow=2, byrow=T)

TOvkDEIEDEEMIZDULNTIL " Arranging multiple grobs on a page” by Baptiste Auguie [ZT

https://cran.r-project.org/web/packages/gridExtra/vignettes/arrange Grob.html 54




SZ - WHDITSIER

JOvkcAToxH G1, G2, G3 Z1ERk

GO <- ggplot(iris, aes(Petal.Length))
Gl <- GO + geom histogram()
G2 <- GO + geom density(color="blue")

> G3 <- GO + geom histogram(aes(y = ..density..)) +
+ geom density (color="red")
- JOyrA IOk G, G2, G3 FitICIERB
> library(gridExtra)
> grid.arrange (Gl, G2, G3, nrow=3, heights=c(1,1,1))
y BN 4= —_
o TJBAYrFT TV GI. G2, G3 ZITHIICTEIET
> LM1 <- matrix(c(1,NA,2,3), nrow=2, byrow=T)
> grid.arrange (G1l, G2, layout matrix=LM1l, heights=c(1.5,1))
> LM2 <- matrix(c(1,1,2,3), nrow=2, byrow=T)

grid.arrange (Gl, G2, layout matrix=LM2, heights=c(1.5,1))
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SE:EHD 7“57/?/56
s

€20- |
g i .
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© 0.0- ! ! ! | 2 4 6
> 4 6 \ Petal.Length
Petal.Length | 0.8-
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B FEDEMN R

o I\ —TlgridlgridExtral T, 9 712K ZFEBMTHIEMNAHFEKS
o FT.TOAYNATOIINERAT O ONEERRT S

o RATVHUMIEI# tableGrob() TIERL
tableGrob(7—42 7L —L, theme=&RNDT—,
rows={TINJLIZBET SRR IL or NULL,
cols=F5N)JLIZEHT BRI k)L or NULL)
« ROT—VIXLUTH(EHATEE
ttheme_default(base_size=12, base_color="black”, ...)

ttheme_minimal(base_size=12, base_color="black”, ...

o TAYNATOIOMRAT O VMDEER AL 54 EERL
= BA#K gridarrange(FOYrA Tz HM, TAVRAT O HR2, ) TEE
*  B|# nrow & ncol TITEIEFIE. 5I1# heights & widths TESEIRZIEE
e B|# nrow & ncol DHHYIZ, 518 layout_matrix IZ1THIZFIEET H_ET
BB E A I EE
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2. 0B 0 R

JOvbATOIOR G ERATO VM T 1R,
B4 grid.arrange THEIZHEARS

library (gridExtra)

G <- ggplot(iris, aes(Petal.Width)) + geom histogramf()

Tl <- tableGrob(iris[1l:16,4:5], rows=NULL, cols=c("Data", "Species"),
theme=ttheme minimal () )

grid.arrange (G, T1l, nrow=1l, widths=c(2,1))

RATOTHM T0 ZBMIERE . B3 gridarrange TS

TO <- tableGrob(data.frame(x="Iris Data"), rows=NULL, cols=NULL,
theme=ttheme minimal (base size=15, base color="black"))

LM <- matrix(c(1,2,1,3), nrow=2, byrow=T)

grid.arrange (G, TO0, T1l, layout matrix=LM, heights=c(1,10))

. RATOxHDEHMIL “"Displaying tables as grid graphics” by Baptiste Auguie 12T
https://cran.r—project.org/web/packages/gridExtra/vignettes/tableGrob.html

. TAYrERDENE(ZDULVNTIL” Arranging multiple grobs on a page” by Baptiste Auguie [ZT
https://cran.r—project.org/web/packages/gridExtra/vignettes/arrangeGrob.html 58
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N =—q—

- EARIFIR

» TSTDERDFEN
» BRDTS7/ERAE
» JS9DHARERAX

R 24 theme() DEE
o B : Kaplan Meier Plot

¢ JII.:,\

1451] : Forest Plot
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TSTIDHXZIL X R

« SETHERFAT. geplot2 DIEEAIFEZRI=->TLVEHKDIC
RZ5H0. BRIV ONT STEERT HEMERR S LD
¢« EAMICIEUTORNTEFINOIOMNELLIVMEEDLNS

1. RRSAFICHTKAERWLGEEIFIWEZ S
(EARWLGEBEFNSTIZ 2 UERISED S, REHRELLED)

2. ERIZTZ7EHMNTHD, TT7—HHIGEIEINILTESET S

3. FNTLOINLENEZIFXLTIZTHEARS
(BATENWTHTES1EWSRRBRELLGWEEENEFTVEETA)

R Graphics Cookbook, 2nd edition
https://r—graphics.org/

ggplot2 M~¥=—a7J)L
https://ggplot2.tidyverse.org/reference/

L E0TH AL Google TWVAWLWAKRE
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FZLEDHEBREHNR R

30—

20~

107 |

|
0.5

|
1.0

dose

|
1.5

|
2.0

supp
- 0J
- \VC
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FEEIEDERE

> ( TG <- summarise (group by (ToothGrowth, supp, dose)
m=mean (len), s=sd(len)) )
Source: local data frame [6 x 4]
Groups: supp [?]
supp dose m S 30-
(fctr) (dbl) (dbl) (dbl)
1 OoJd 0.5 13.23 4.459709
2 OJ 1.0 22.70 3.910953 g™
3 OoJd 2.0 26.06 2.655058
4 VC 0.5 7.98 2.746634 -
5 vC 1.0 16.77 2.515309
6 vC 2.0 26.14 4.797731

+ + Vv Vv

pd <- position dodge(.1)
ggplot (TG,

aes (x=dose, y=m,

geom line (position=pd)

color=supp)) +

I

0.5

1.0 1.5
dose

2.0

geom errorbar (aes (ymin=m-s, ymax=m+s), width=.1, position=pd)
+ geom point (position=pd)

supp
- 0J
- VC

+

e 2 supp. & dose DI len DFHE m &6 len DIRZERE s IZHEH

L7=1&. BA%1 geplot) ETFMHEDHBHZEIENH XS
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FEENEDHERE R

> ( TG <- summarise (group by (ToothGrowth, supp, dose),
m=mean (len), s=sd(len)) )

30~

supp
20-
= - 0J
—-VC

10~

05 10 15 20
dose

> pd <- position dodge(.1)
> ggplot (TG, aes (x=dose, y=m, color=supp)) +

e % supp. % dose DI len DFEWHE m |l len DIEFERE s 1ZHEH
« ZEH pdIZITOVREXSTIEIZHRATS
«  BH% geplot() 2155/ (dose) | #tEH (m) . TR TEE (supp) 16 TE

64



TR (E DR ‘R

color=supp
+ geom errorbar (aes (ymin=m-s, ymax=m+s), width=.1, position=pd) +
+ geom line (position=pd) +

+ geom point (position=pd) 30-

e  [B8%f geom_errorbar() TITS—/\—D 7 0OyYk . supp
v' B|l# ymin & ymax TZS—/\—DEIZETE - :33:
v B|# width TZS5—/\—DEDIEZIETE 10~
v B|#] position TIFTOYFEXSTIREIZIETE e e

o  BIFL geom line() THEED T AV U dese

v 5|# position TITOYLEXSTIEIZFIETE

vV #BOBIFEEIZZATE S ( color=supp ) [ZHt{FITHENTLNS
«  BY%K geom_point) TROTOYk

v 5|# position TITOYLEXSTIEIZFIETE

vV #BOBIFEEIZZATE S ( color=supp ) [ZHt{FITHENTLNS

¢ BRHAH.CORZEIIDLNRFITAZXTHIELHESD 65



FEEIEDERE

> ggplot (TG, aes(x=dose, y=m, color=supp)) +
+ geom errorbar (aes (ymin=m-s, ymax=m+s), width=.1, position=pd)
+ geom line (aes(linetype=supp), position=pd) +

+ geom point (aes (shape=supp, fill=supp, size=supp), position=pd)

+ scale color manual (values=c ("red", "blue")) +

+ scale linetype manual (values=c("solid", "dashed")) +
+ scale shape manual (values=c(2,19)) +

+ scale fill manual (values=c("green", "yellow")) +

+ scale size manual (values=c(5,2)) +

+ theme (legend.position=c(0.0,0.8), legend.justification=c(0,0))
+ xlab ("Dose") + ylab("Length") + ggtitle("Mean Plot") +

+ scale x continuous (limits=c(0.3,2.2), breaks=c(0.5,1,2),
+ labels=c ("0.5mg","1.0mg","2.0mg")) +

+ scale y continuous (limits=c(0,40), breaks=seq(0,40,20),
+ labels=c ("Omm", "20mm", "40mm") )

+

+

+
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FEIEDHFEE

40mm ~

20mm ~

Length

Omm —

supp

éEOJ

- VC

0.5mg

1.0mg

Mean Plot

Dose

2.0mg
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IXRTREIRELEDETF

> ggplot (TG,

+

aes (x=dose, y=m, color=supp)) +

scale color manual (values=c ("red", "blue")) +

T—R3% TRXTEM (clour, linetype. shape ) [ZH D[+ THL L.
BE# scale XXX_manual) CEREDTOVEFD REZNEEAHE

*9 . B2 geplot() T color DITRATREHEZIEELTLNSD T,
957K ELTES supp AT LIZB S ITAEENS

B EADFEZEIL. BIEL scale color manual() [Z2TITO

68



B DEE

> barplot(1:8,

col=1:8, axes=F)

col =1

2 3 4

5
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B DEE

R-

> colors ()

W W N NN RE R R R A = —
N e < I 2 N S T U e ) S OV B o SN B N S
| L e S e SEE D —— e S D SR S—

r ra M /M /M ke

[655]

"white"
"antiquewhitel"
"antiquewhite4"
"aguamarine2"
"azure"
"azure3"
"bisque™"
"bisque3"
"blanchedalmond"
"blue2"
"blueviolet™

"brown2"

"yvellow3"

"aliceblue"
"antiquewhite2"
"agquamarine"

"agquamarine3"

"azurel"
"azure4d"
"bisquel"
"bisque4d"
"blue"
"bluel3™"
"brown"

"brown3"

"yvellow4d"

"antiquewhite"
"antiquewhite3"
"aguamarinel"
"aguamarine4"
"azure2"
"beige"
"bisque2"
"black"
"bluel"
"blue4d"
"brownl"

"brown4"“

"vellowgreen"
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BE. . BRY, FOKEE R

> ggplot (TG, aes(x=dose, y=m, color=supp)) +

+ geom line (aes(linetype=supp), position=pd) +

+ geom point (aes (shape=supp, fill=supp, size=supp), position=pd) +
+ scale linetype manual (values=c("solid", "dashed")) +

+ scale shape manual (values=c(2,19)) +

+ scale fill manual (values=c("green", "yellow")) +

+ scale size manual (values=c(5,2)) +

« HBEDODISTORMBIZOAIATEUZROITAZELHES

o  HIRIX. BIEL geom_line() T linetype DT RATEMEZIEELTLNAD T,
BT SITDARER supp DATIYT LIZEDEES (THEENS

o RFBOFRIL. BAEK scale_line_manual() [ZTITS
« A% geom_point() IZDWWTHLREFBFRD LA 71



BE# scale XXX Manual()
¢« IRTRHEZZEEITA-OHDOEMIIZES
- scale_color manual(values, ...): R OEFED
scale_fil_manual(values, ...): Z=L DS LD A

scale_size_manual(values, ...): K==

scale_shape_manual(values, ...): m DFEZE
scale_linetype_manual(values, ...): R DFE%E
scale_alpha_manual(values, ...): X2 D FEHE

o FIRIILUTDESY
 values=c(2,19) %> values=c(“red”,”blue”): FEHTIDEEZIETET S
labels=c(“VitaminC”,”Orange”): &HTI D FLBIDSNILEIETET S
limits=c("VC"): H T HHhTIVEHKD
o LUZEM (JHZ X : scale_color manual() ) @ FLBITE % Ell &
LI=LMEE I ADSSERTIC NULL/FALSE Z3EE 9 4
BE 24 guides(color=guide_legend(title=NULL)) T LD 21 )L ZHIFR
BE44 guides(color=F) [CT—f&ETHHIZEIFRT 2 &EHT] 72




ROELE

512K Ity ]

lty=0 ,

lty=1

lty=2

lty=3 ,

lty=4

lty=5 |,

lty=6 ,

lty=

, Ity=

, Ity=

lty=

, Ity=

lty=

lty=

“blank” (:%EBR)

“solid”
“dashed” = rrmmmmmmmmmmmemememeoeeeeoeoooooo
”dOtted" -----------------------------------------------------------------------------
”dOtdaSh” e 8 2 5 2

“longdash” = o

“twodash” e




DS R

pch 0 1 2 3 4 0 6 7 8

pch 9 10 11 12 13 14 15 16 17
$ b XX % H o A

pch 18 19 20 21 22 23 24 25
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SN2 A /L D

> ggplot (TG, aes(x=dose, y=m, color=supp)) +

+ theme (legend.position=c(0.0,0.8), legend.justification=c(0,0))
+ xlab ("Dose") + ylab("Length") + ggtitle("Mean Plot") +

+

o % theme() THAIDLGENLTOVFEARDEREEZIEET S
« 8%k xl1ab(). ylab(). ggtitle() TEADTZTDRAAMILEFIEET S
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SLOIZ A FIL D FE R

FLBI D 1 &
theme(legend.position=c(0.75,0),
legend justification=c(1,0)): 5 E DL EZIEFE (0 ~ 1 TEFE)
+ theme(legend.position="top” “right” “bottom” “left” “none”) 7= A5E + 1]

FLBID SN ILDERE(IZ DN TIEE R

S4A LR

* xlab("Dose”): x EADF A ~ILZ$E7E . xlab(NULL) > xlab(™™) TIEFRRIC
ylab("Length”):y BN 21 FILZFETE . ylab(NULL) %> ylab("”) TIEFERRIC
gatitle("Mean Plot™): 7 57D AAFILZEFEE
labs(color="Supp.”): LEEDET + NHEID2AFILEIEE R RE
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BG#t theme() [CLBZA /L OB/ DEEF

B

+ o+ o+ o+

#theme (axis.title.x=element blank()) # x EADITNILZHT
theme (axis.title.x=element blank(),
axis.text.x=element text (angle=30, hjust=1, vjust=1l,

face="italic",

colour="red", size=12))

30~

20-

0.5

B2 theme() D513 axistext.x [CLNAUWAIETET H_ET,
X EHDAE)DIRNILDEXEZZTELZY ., SRNILEHELI-YTHIENHFEKS

2.0

Supp

0 -

30-

20- supp
£ - 0J

i
i
i
i
i
i
| = \C
i
i
i
i
i
i



BDIr— /L R

> ggplot (TG, aes(x=dose, y=m, color=supp)) +

scale x continuous (limits=c(0.3,2.2), breaks=c(0.5,1,2),
labels=c ("0.5mg","1.0mg","2.0mg")) +

scale y continuous (limits=c(0,40), breaks=seq(0,40,20),
labels=c ("Omm", "20mm", "40mm") )

+ + + +

scale_x_continuous() & scale y continuous() T x Eh> v EHDEFEHZE%
BT LHIENEFES

e  F|# trans [ZT “asn” (tanh™1(x)) . “exp” (eX) . “identity” (EZ )

“log” (log(x)) . “log10” (log,,(x)) . “log2” (log,(x)) . “logit”

(ByRBEER) . “powl10” (10%) . “probit” (T REYEEE) .

“recip” (1/x) . “reverse” (—x). “sqrt” ((EHIR) SO REEIEL A 78



BEEIEWOR — /L D

PEFZ D En B
xlim(c(0,2.5)). ylim(c(0,40)): x . v #hD [ F

scale_x_continuous(breaks=NULL, expand=c(0, 0)):
x B EHBREERTRICL x BIDT—2%F 0 2

scale_y_continuous(limits=c(0,40), breaks=seq(0,40,10),
labels=c("Omm”,”20mm”,”40mm”)):y BHDEFE + Z|AMEIZEE T 515

X BRI T —A2 D15 A& scale x discrete(). scale_y discrete() 1%

Rr—ILDIETE
scale_x_date(), scale_y date(): H {-t&!
scale_x_datetime(), scale_y datetime(): H %!
scale x_log10(). scale_y log10() : > % & [ Z
scale x_reverse(), scale y reverse(): 1 |[E|ZF 7T~

J"_ EXDIETE
coord_fixed(ratio=1/2): JR mDFE. y/x DLz 1/2 |2
coord_flip(): x Eli& v BHZ [ Z5R~
coord_polar() : 1B FER 3= 7k
coord_trans(x="F8#", y="FA#"): BEAZ £ (&)
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L BT —SDELRR-

. scale_y discrete() Z{& FH

BRELT —3 D15 E L scale x_discrete()

X —/L D&

« BIZIE BT —FDINIVEEPRTT HHTIVDEIRAAIHE

> points <- ggplot (ToothGrowth, aes(x=supp, y=1len, color=factor(dose))) +
- geom_point ()

> points + scale x discrete("dose", limits=rev (levels (ToothGrowth$supp)),
+ labels=c("VC"="Vitamin C"), breaks="VC")

> points + x1lim("OJ")

Z2EAyE—T:
Removed 30 rows containing missing values

(geom _point) .

1

1

1

[ ] -

30- . S |

* . [

[ ' i

. ] factor(dose) -

P 8 |
c20- ] ¢ 05 c
<2 (] I O

P e * 1 .

[ ] [ ] |

| ¢ ° 2 .

e 1

. I

10~ . t .

. 1

| .

§ I

. .

. 1

Vitamin C I

dose .

30- +
[ ]
[ ]
!
' factor(dose)
[ ]
20~ . © 05
Y * 1
[ ]
g s 2
10- ()
e
0oJ 80

supp



len

& NOIDITE

RIRE DB T oEE THL A DORTREEDLLL
— FLAIFREICKCTRHLERB T 2R ENDHD
B ZIE. TEDREEEL aes THIE color ICTEH D TLTULSIGE . BAL

scale_color discrete() TON)LDIJIEZE . BE%L guides) THIELZEDIETED

oY

a]

points <- ggplot (ToothGrowth, aes(x=supp, y=1len, color=factor(dose))) +

geom_point ()

points + scale color discrete(limits=c("1","2","0.5")) + labs(color="Dose")
points + guides(color=guide legend (reverse=T))

30~

10~

supp

1

. I

[ ) .

o 1

[ ] [ ] .

1

i ® .

T |

§ . Dose -

H . !

° ¢ 1 "
s

o o e 2 -

® . 1

H : ¢ 05

. 1

! )

" . !

° g I

v 1

1 1 i

oJ VC !

1

1

len

L]
[
[ ]
30~ e °
i .
L]
9 . factor(dose)
[ ]
& . .
20- . 2
]
bt e * 1
[ ] *
: : * 05
[ ]
(]
10~ e T
L}
[
1 1
oJ VC

supp 81



L= owa ﬂwfz-ém”}ffﬁwﬂ R

> df <- data.frame(date=seq(Sys.Date(), len=50, by="1 day")
+ 4 =runif (50))
> ggplot (df, aes(date,y)) + geom line() +
+ scale x date(labels=date format ("%Y/%m/%d")
1.00-
0.75-
=>0.50 -
0.25-
2015/11/15 2015/12/01 2015/12/15 2016/01/01
date
> df <- data.frame(x=1:5, y=1:5)
> mysqgrt trans <- function() trans new("mysqgrt",
+  function(x) sqrt(x), function(x) x"2) # TMAEFEMKZETE
> ggplot (df, aes(x=x,y=y)) + geom point () + coord_trans(x="mysqrt")
5- * 5- *
4- T 4- I
>3- * >3- .
2- * 2- *
1_ II. | | | | 1_ T | | | |
1 2 3 4 5 1 2 3 4 5
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BB PXFDEL, Z/zEDEE

+ + 4+ 4+ o+ 4+ o+ 4+ + 4V

ggplot (TG, aes(x=dose, y=m, color=supp)) +

geom_ errorbar (aes (ymin=m-s, ymax=m+s), 30

width=.1, position=pd) +
geom line (position=pd) +

geom point (position=pd) +
supp

annotate ("text", x=1.8, y=8, label="2.0mg", Em_ ol
col="green") + Ve

annotate ("segment", x=2, xend=2, y=10,
yend=20, arrow=arrow (), col="green") + 104

annotate ("pointrange", x=1.5, y=15, ymin=10, 2.0mg
ymax=20, colour="green", size=2) +

theme classic() 05 10 15 20

dose

BEZK annotate() TR XFHIEELT H_EMNHED
o G|3: "FEEE", x, y, xmin, ymin, xmax, ymax, ZXT &5 : color)
o ITAHEDDFELEE: "point”, “pointrange”, “rect”, “segment”, “text”

BE4L theme XXX() TEAFANLGRE-BEZ2ZEZ 5 ENH KD
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ZEEDEE

theme_bw()
theme_calc()

theme _classic()

theme_economist()
theme_economist_white()

theme_excel()

theme _few()

theme fivethirtyeight()

theme_foundation()
theme_gdocs()
theme_grey()

theme_hc()

theme_light()

theme _linedraw()

theme_map()

X BF BN/ v —U T ggthemes 1D DR

theme classic()
30
supp

oJ
—+VC

EZO‘

107

T T T T
05 1.0 15 20
dose

1S

30 *
supp
20 o
—-VC
10 {/

theme_excel()

T T T T
05 10 15 20
dose

theme_igray()

theme_minimal()
theme_pander()
theme_solarized()
theme_solarized_2()
theme_solid()
theme_stata()
theme_tufte()

theme_wsj()

theme_stata()

theme_light() 8- }
30 Q-
1S
+ supp .
VC T T T T
0 0.5 10 15 2.0
ose

05 10 15 20 oJ +VC

dose

supp




N =—q—

» EAXRHEIE

o UITDERDIN
- HBRDTTIERS
« JSTDHARAIAX

B3 theme() D E
o 45 :Kaplan Meier Plot

I

1451 : Forest Plot
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BI8t theme() D5/ 8158t~ - -

line, rect, text, title, aspect.ratio, axis.title, axis.title.x,
axis.title.x.top, axis.title.x.bottom, axis.title.y, axis.title.y.left,
axis.title.y.right, axis.text, axis.text.x, axis.text.x.top,
axis.text.x.bottom, axis.text.y, axis.text.y.left, axis.text.y.right,
axis.ticks, axis.ticks.x, axis.ticks.x.top, axis.ticks.x.bottom,
axis.ticks.y, axis.ticks.y.left, axis.ticks.y.right, axis.ticks.length,
axis.ticks.length.x, axis.ticks.length.x.top, axis.ticks.length.x.bottom,
axis.ticks.length.y, axis.ticks.length.y.left, axis.ticks.length.y.right,
axis.line, axis.line.x, axis.line.x.top, axis.line.x.bottom, axis.line.y,
axis.line.y.left, axis.line.y.right, legend.background, legend.margin,
legend.spacing, legend.spacing.x, legend.spacing.y, legend.key,
legend.key.size, legend.key.height, legend.key.width, legend.text,
legend.text.align, legend.title, legend.title.align, legend.position,
legend.direction, legend.justification, legend.box, legend.box.just,
legend.box.margin, legend.box.background, legend.box.spacing,

panel .background, panel.border, panel.spacing, panel.spacing.Xx,
panel.spacing.y, panel.grid, panel.grid.major, panel.grid.minor,
panel.grid.major.x, panel.grid.major.y, panel.grid.minor.Xx,
panel.grid.minor.y, panel.ontop, plot.background, plot.title,
plot.subtitle, plot.caption, plot.tag, plot.tag.position, plot.margin,
strip.background, strip.background.x, strip.background.y,
strip.placement, strip.text, strip.text.x, strip.text.y,
strip.switch.pad.grid, strip.switch.pad.wrap,

o KESILDEBFFTRE — HMIE<T=27 /L4 Winston (2013) S8
X https://geplot?2.tidyverse.org/reference/ 86




BG#t theme() D 5/#/-5 %X S5 T

B 2% theme() IZKYUIRRIEHREATAXAMNITAS
Bl Z 1. axis.title.x & axis.titley |& x Ehé v B X F. axis.title [XTHERD XFD

BREZITI - ENSESI BT RI-EITTRIOERERN T ERIZES
B2k theme() [EBIMNZITEHD T, FEMTIEIRMLTHEN

BE44 theme() D& S (BIE) . UL TOEMICKYEREEEZ S

element blank() : IEESN=ERICDOLV\TEELENT . AR—XH (T4

element_rect(fill = NULL, colour = NULL, size = NULL, linetype = NULL,
color = NULL, inherit.blank = FALSE) : #2289 5% F

element_line(colour = NULL, size = NULL, linetype = NULL, lineend = NULL,
color = NULL, arrow = NULL, inherit.blank = FALSE) : #R(ZB89 A% E

element_text(family = NULL, face = NULL, colour = NULL, size = NULL,

hjust = NULL, vjust = NULL, angle = NULL, lineheight = NULL, color = NULL,

margin = NULL, debug = NULL, inherit.blank = FALSE) : X FIZBE3 4% T
margin(t =0,r=0,b=0,1=0, unit="pt”) : FEIZET HET
rel(x) : A X OKEIELFZHEXETIEE T DIEEIZIEE. size=rel(1.5) Z

R

87



B theme() D5/ (k%)

FIZEHAT S element xxx() XILXF

518

line

rect

text

title

axis.title
axis.title.x
axis.title.y
axis.text
axis.text.x
axis.texty
axis.line
axis.line.x
axis.line.y
legend.background
legend.text
legend.title
legend.position
plot.title
strip.background
strip.text
strip.text.x
strip.text.y

ek
ETOH
ETD5ER
ETHOXF
AL
B AL
x BFA~IL
y B JL
EEEDXF
x B HEDXF
y EHE DO XF
ED R
x B R
y BHOD#R
FLBIDE =
FLFI D F
FLIZA R IL
FLBIDEIE
534U
BATZ7DEANILDE R
BRITZ7D5N)L
BRATZ7DZRNIL( x AF)
BATSTDSRIL(y HR)

element_line() . element_blank()
element_rect() . element blank()
element_text() . element_blank()
element_text() . element_blank()
element_text() . element_blank()
element_text() . element_blank()
element_text() . element_blank()
element_text() . element_blank()
element_text() . element_blank()
element_text() . element_blank()
element_line() . element_blank()
element_line() . element_blank()
element_line() . element_blank()
element_rect() . element_blank()
element_text() . element_blank()
element_text() . element_blank()
“bottom” ., “left”, “top”. “right
element_text() . element_blank()
element_rect() . element_blank()
element_text() . element_blank()
element_text() . element_blank()
element_text() . element_blank()

”.c(071,071)
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BHE0 theme() D& FHH)

ggplot (ToothGrowth, aes(x=dose, y=len, color=supp)) +
geom point () + ggtitle("Sample") +
theme (axis.title.x=element text (size=15, color="red"),
axis.text.y=element blank(), axis.ticks.y=element blank(),

plot.title=element text(size = rel(l1.5), face="bold.italic"),

>
"
"
"
+ axis.line=element line(color="green"),
"
+ legend.position=c (0.8, 0.2),

"

legend.title=element text (color="blue"))

Sample

len
[ ]

supp
“ o
* VC

05 £O 15 2b
dose




BHE0 theme() D (E/HH)

>
+
+
+
+
+
+
+

ggplot (ToothGrowth, aes(x=dose, y=len, color=supp)) +
geom point () + ggtitle("Sample") +
theme (axis.title.x=element text (size=15, color="red"),
axis.text.y=element blank (), axis.ticks.y=element blank(),
plot.title=element text(size = rel(l1.5), face="bold.italic"),
legend.position=c(0.8, 0.2),
legend.title=element text (color="blue"))

axis.title.x: x EHSNILD size & 15, BZF 7RI
axis.texty: y BHH B DX F%;HI — element_blank()
axis.ticksyy: v BB %% H9 — element_blank()

plottitle: 7578 AILD size & 1.5 {&, T+ ,% bold.italic I

legend.position: S 7DETDIHFR%E (0, 0)&L. FLBIDIEFR%E (0.8, 0.2) I

legend.title: FLFIZAMILDBEZFTIC
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N =—q—

« EARWIEIE

+ JSTDERDIRN

o« TBRDYTTIERLS

c JITDHREAIAX
EA%K theme() D E

1451l : Kaplan Meier Plot

o ik

1451 : Forest Plot
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fEfFT ST —53:AML R

(Acute Myelogenous Leukemia)

. AMEHMMELNEAML)EZRBEINE-EFHBIAD
HFRRET—42
« group HEFFHEFEEDHEE(:HY. 2:7%50L)
* time: £ 7FFFHE
o status: AR (1)/$THHY (0)

group time status group time status

1 9 1 2 5 1
1 13 1 2 > 1
1 13 0 2 8 1
1 18 1 2 8 1
1 23 1 2 12 L

2 16 0
1 28 0 5 53 1
1 31 1 5 57 1
1 34 1 2 30 1
1 45 0 2 33 1
1 48 1 2 473 1
1 161 0 2 45 1
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HFT 5221 t7—+F Ok (Kaplan Meier Plot) /7 R

T—SER

v VvV Vv + + Vv V v VvV V V V V V

library (survival)

aml$group <- ifelse(aml$x=="Maintained", 1, 2)

result <- survfit (Surv(time, status) ~ group, data = aml)

# summary (result)

# plot (result, col=2:1, xlab="Time", ylab="Survival Rate")

# plot(result, col=2:1, xlab="Time", ylab="Cumulative Incidence", fun="event")

# 1 BHO5ZE

df tmp <- data.frame(time=resultS$Stime, n.risk=results$n.risk,
n.event=resultSn.event, n.censor=resultSn.censor,
surv=resultSsurv)

df zero <- data.frame(time=0, n.risk=results$n, n.event=0, n.censor=0, surv=1l)

df <- rbind(df zero, df tmp)

dfsfail <- 1 - dfssurv

+9 . survival 73y — D EEEL Surv() & survfit) ZRALNT
NITZRAN—WEEIT o1& VI7EBRAD T —3% KT %
(1 HE2HBULTERAENETELSD)

BE(X 4~6 TTHRICTROTS7EERMT HH., §EITHELR
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BTS2 1 Y—-F vk (Kaplan Meier Plot) /H
T—RERE

> # 2 BULDEFEE

> mystrata <- c()

> for(i in 1:length(result$strata)) mystrata <- c(mystrata,

+ rep (names (resultSstrata) [1], result$Sstratalil))

df tmp <- data.frame(time=result$Stime, n.risk=results$n.risk,

\Y

n.event=resultSn.event, n.censor=resultSn.censor,

+ +

surv=result$surv, strata=factor (mystrata))
df <- NULL
for(i in 1:length(result$strata)) {

\%

\Y

mysubset <- subset (df tmp, strata==names(results$strata) [1])

df zero «<- data.frame(time=0, n.risk=resultsn[i], n.event=0, n.censor=0,
surv=1l, strata=names (resultSstratali]))

df <- rbind(df, rbind(df zero, mysubset))

+ + + + +

}

dfsfail <- 1 - dfssurv
> head (df, n=3)

\%

time n.risk n.event n.censor surv strata fail
1 0 11 0 0 1.0000000 group=1 0.00000000
2 9 11 1 0 0.9090909 group=1 0.09090909
3 13 10 1 1 0.8181818 group=1 0.18181818
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Bl : at risk [CBFT B0

> ggplot (data=df) +

+ geom_ step (mapping=aes (x=time, y=surv, color=strata,

+ linetype=strata), size=1.2) +

+ geom point (data=subset (df, n.censor>0),

+ mapping=aes (x=time, y=surv, color=strata), shape=3, size=2) +

+ xlab("Time") + ylab("Survival Rate") +

+ scale x continuous (breaks=seq(0, 160, by=20), limits=c(0, 170)) +
+ scale y continuous (breaks=seq(0, 1, by=0.2), limits=c(0, 1))

o BIETHEMLIE=T—2 df ZE->TREREEE. if D55
TV T=T 2% FE T B YUY | (+) ZFHEE

o T surv ZZE fal [CEEITH_LET, BEERERICEHT S
G57% < ENHES

« BB T—AFF-T 1 MODIZ7FHERITFEALHY.
(EHEILEIET D) [data=1 mapping=1ZBAFEL7ELV &
ggplot2 HVEELL. TT5—%&IRT
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Gl : at risk [CEIT XL

1.0-
0.8-
0.6~
Q
& strata
g == group=1
g =t= group=2
wn
04-
[ |
1
[ |
02- = - ;
[ |
[ |
1
-I
1
[ |
[ |
0.0-
1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 120 140 160
Time
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BI2: at risk [CBI T &K ZELSEL

JAVEEIZET DT —4 atRisk ZEfLI- ETYSTEREHET
R CIEMETLEDOHEROMYEBL & T—2MIIEFRHLE NS

R

result?2 <- summary (result, time=seq(0,180,20))

# 1 BHDGE

atrisk tmp <- data.frame(time=result2$time, n.risk=result2$n.risk)

# 2 HLULEDZE

atrisk tmp <- data.frame (time=result2stime, n.risk=result2sn.risk,
strata=result2$strata)

atriskl <- subset (atrisk tmp, strata=="group=1")

atrisk2 <- subset (atrisk tmp, strata=="group=2")

atRisk <- subset (merge (atriskl, atrisk2, by="time", all=T),
select=c(time, n.risk.x, n.risk.y))

atRisk$n.risk.x <- replace(atRisk$n.risk.x, which(is.na(atRisk$n.risk.x)), 0)

atRisks$n.risk.y <- replace(atRisk$n.risk.y, which(is.na(atRisk$n.risk.y)), 0)

names (atRisk) <- ¢ ("Time", "Group=1l", "Group=2")

library(grid)

library (gridExtra)

TB <- tableGrob(t (atRisk), cols=NULL)

TBSwidths <- unit (rep(0.8/ncol (TB), ncol(TB)), "npc")
grid.arrange (KM, TB, nrow=2, as.table=TRUE, heights=c(3,1))
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B2 at risk [CEH T SXZERSTEE

R

1.0- :
L}
L}
1 1
L}
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https://rpkgs.datanovia.com/survminer/index.html

+ + VvV VvV V V V

library (survminer)
library (ggthemes)
amlsgroup <- ifelse(aml$x=="Maintained", 1, 2)
result <- surviit (Surv(time, status) ~ group, data = aml)
ggsurvplot (result, data=aml, risk.table=TRUE,
ggtheme=theme bw(), tables.theme=theme cleantable() +
theme (panel.grid=element blank()) )

Survival probability

Strata =+ group=1 =+ group=2
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> MC - summarise (group by (iris, Species),

- M=mean (Sepal.Length), S=sd(Sepal.Length))

> MCI <- rbind (MCI, summarise (group by (iris, Species),

+ M=mean (Sepal.Width ), S=sd(Sepal.Width )))

> MCI <- rbind (MCI, summarise (group by (iris, Species),

- M=mean (Petal.Length), S=sd(Petal.Length)))

> MCI <- rbind (MCI, summarise (group by (iris, Species),

+ M=mean (Petal.Width ), S=sd(Petal.Width )))

> MCISM <- round (MCIsSM, 1)

> MCISL <- round(MCISM - MCISS, 2)

> MCISU <- round (MCISM + MCISS, 2)

> MCISID <- as.numeric (row.names (MCI))

> MCIS$GROUP <- factor (MCISID, labels=paste("Group",1:12))

ID GROUP Species M S L U
1 Group 1 setosa 5.0 0.35 4.65 5.35
2 Group 2 versicolor 5.9 0.52 5.38 6.42
3 Group 3 virginica 6.6 0.64 5.96 1.24
4 Group 4 setosa 3.4 0.38 3.02 3.78
5 Group 5 versicolor 2.8 0.31 2.49 3.11
6 Group 6 virginica 3.0 0.32 2.68 3.32
7 Group 7 setosa 1.5 0.17 1.33 1.67
8 Group 8 versicolor 4.3 047 3.83 4.77
9 Group 9 virginica 5.6 0.55 5.05 6.15
10 | Group 10 setosa 0.2 0.11 0.09 0.31
11 Group 11 versicolor 1.3 0.20 1.10 1.50
12 Group 12 virginica 2.0 0.28 1.73 2.27

101



w1 - EHE7Forest Plot R

> ggplot (data=MCI, aes (x=M, y=GROUP, xmin=L, xmax=U)) +

+ geom errorbarh() + geom point() + xlab("Mean +- SD") + ylab("Group") +
- geom vline (xintercept=3.5, col="red", 1lty=2) +

+ scale y discrete ("GROUP", limits=rev (levels (MCI$SGROUP)))

Group 1- E }_._{

Group 2 - E |

Group 3 - !
Group 4 - }—"E—{
Group 5- }—'—{ |
Group 6 - }—'—{ !
Group 7 - }—'—{ E
Group 8- E }—'—{
Group 9~ E | o |
Group 10 - H
Group 11~ }—o—{
Group 12~ }—'—{

0 2 4 6
Mean +- SD

GROUP
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\ 7

V + V + + + + 4+ + VvV Vv

+ ggtitle("Sample Plot")

I

I

library(grid); library(gridExtra)
FP <- ggplot (data=MCI, aes(x=M, y=ID, xmin=L, xmax=U)) +
geom_errorbarh() + geom point () + scale y reverse()
geom_vline (xintercept=3.5, col="red", 1lty=2) + theme bw() +
theme (axis.title.x=element blank (), panel.grid=element blank(),
axis.title.y=element blank (), axis.text.y=element blank()
axis.line.y=element blank (), axis.ticks.y=element blank()
plot.margin=margin(0.07, 0.05, 0.01, 0, "npc"))
TB <- tableGrob (MCI[,c(7,2,4,5)], rows=NULL,

theme=ttheme minimal ())

cols=c ("Group", "Mean", "Lower", "Upper"),

+

grid.arrange (TB,

FP,

nrow=1,

as.table=TRUE,

widths=c(1,2))

Group Mean Lower Upper Sample Plot
Group 1 5.0 4 65 535
Group 2 59 5.38 6.42
Group 3 6.6 5.96 7.24
Group 4 34 3.02 378
Group 5 28 249 311
Group 6 30 268 3.32
Group 7 15 1.33 1.67
Group 8 43 3.83 477
Group 9 56 5.05 6.15
Group 10 02 009 031 B
Group 11 1.3 1.10 1.50
Group 12 2.0 173 227
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> FP <- ggplot (data=MCI, aes(x=M, y=ID, xmin=L, xmax=U)) +
geom_errorbarh() + geom point() + ggtitle("Sample Plot") +
geom vline (xintercept=3.5, col="red", 1lty=2) + theme bw() +
theme (axis.title.x=element blank(), panel.grid=element blank(),
axis.title.y=element blank(), axis.text.y=element blank(),
)

4

axis.line.y=element blank (), axis.ticks.y=element_blank (

+ + + + + +

plot.title=element text (size=15))

\

TB <- ggplot (data=MCI, aes(y=ID)) +
xlab("") +
theme (axis.title.y=element blank(), axis.text=element blank(),
axis.line=element blank (), axis.ticks=element blank(),
panel .background=element blank (), panel.border=element blank(),
panel.grid.major=element blank(), panel.grid.minor=element blank(),
legend.position="none", plot.background=element blank(),

+ + + + + + +

plot.margin=margin(0.04, 0.01, 0.04, 0.01, "npc"))

> TB1 <- TB
> TB2 <- TB
> TB3 <- TB
> TB4 <- TB

, 1label=GROUP)) + ggtitle ("Group")
, label=M)) + ggtitle("Mean")

, label=L)) + ggtitle("Lower")

, label=U)) + ggtitle ("Upper")

geom_text aes (X

geom_ text (aes (x

+ ( (
+ ( (
+ geom_ text (aes (x
+ ( (

geom text (aes (x=

> LM <- matrix(c(1,2,2,2,2,3,4,5), nrow=1l)
> grid.arrange (TB1l, FP, TB2, TB3, TB4, layout matrix=LM)
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Group
Group 12
Group 11
Group 10
Group 9
Group 8
Group 7
Group 6
Group 5
Group 4
Group 3
Group 2

Group 1

Sample Plot

o

Mean

1.3

0.2

5.6

4.3

1.5

2.8

3.4

6.6

59

Lower

1.73

1.1

0.09

5.056

3.83

1.33

2.68

2.49

3.02

5.96

5.38

4.65

Upper
2.27
1.5
0.31
6.15
477
1.67
3.32
3.1
3.78
7.24
6.42

5.35
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FP <- ggplot (data=MCI, aes(x=M, y=ID, xmin=L, xmax=U)) +
geom errorbarh() + geom point () + ggtitle("") + scale y reverse() +
geom vline (xintercept=3.5, col="red", 1lty=2) + theme bw() +
theme (axis.title.x=element blank (), panel.grid=element blank(),
axis.title.y=element blank(), axis.text.y=element blank(),
axis.line.y=element blank (), axis.ticks.y=element blank()
plot.title=element text (size=8))

I

TB <- ggplot (data=MCI, aes(y=ID)) +
xlab("") +
theme (axis.title.y=element blank (), axis.text=element blank(),
axis.line=element blank(), axis.ticks=element blank(),
panel .background=element blank (), panel.border=element blank(),
panel.grid.major=element blank (), panel.grid.minor=element blank(),
legend.position="none", plot.background=element blank(),
plot.margin=margin(0.04, 0.01, 0.04, 0.01, "npc"))
HD1 <- tableGrob (data.frame (x="Sample Plot"), rows=NULL, cols=NULL,
theme=ttheme minimal (base size=15, base color="black"))
HD2 <- tableGrob (data.frame(x="95% CI"), rows=NULL, cols=NULL,
theme=ttheme minimal (base size=15, base color="black"))
TBl <- TB + geom_ text (aes(x=1, label=GROUP)) + ggtitle("Group") + scale y reverse()
TB2 <- TB + geom text (aes(x=1, label=M)) + ggtitle("Mean") + scale y reverse()
TB3 <- TB + geom text (aes(x=1, label=L)) + ggtitle("Lower") + scale y reverse()
TB4 <- TB + geom text (aes(x=1, label=U)) + ggtitle("Upper") + scale y reverse()

> LM <- matrix(c(1,1,1,1,1,1,2,2,

3,4,4,4,4,5,6,7), nrow=2, byrow=T)
grid.arrange (HD1,HD2,TB1, FP, TB2, TB3, TB4, layout matrix=LM, heights=c(1,20))
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Group
Group 1
Group 2
Group 3
Group 4
Group 5
Group 6
Group 7
Group 8
Group 9
Group 10
Group 11

Group 12

Sample Plot

Mean

59

6.6

34

28

1.5

4.3

5.6

0.2

1.3

Lower
4.65
5.38
5.96
3.02
2.49
2.68
1.33
3.83
5.05
0.09

1.1

1.73

95% CI
Upper
5.35
6.42
7.24
3.78
3.1
3.32
1.67
4.77
6.15
0.31
1.5

2.27
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B2 XA R

Hadley Wickham &, A H /4 {thFEK (2012)
[FS54099ZAD=6HD R TO55305 (ALEHR) |

Winston Chang &, B# 5%F l#HER(2013) — XETHRbHY
[RITZT49DRIIITII(ATA)—%/\V) ]

ggplot2 M~V =27 )L (CRAN. tidyverse AMD') 7L > X)
https://cran.r—project.org/package=ggplot2
https://geplot2.tidyverse.org/reference/

“R Graphics Cookbook, 2nd edition” created by Winston Chang
https://r—graphics.org/

“Displaying tables as grid graphics” by Baptiste Auguie
https://cran.r—project.org/web/packages/gridExtra/vignettes/table Grob.html

“Arranging multiple grobs on a page” by Baptiste Auguie
https://cran.r—project.org/web/packages/gridExtra/vignettes/arrange Grob.html

survminer DX =27 )L
https://rpkgs.datanovia.com/survminer/index.html

109



.08 W ¢

SR SR 3 oSSevey Fel



